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↑: 1 000

každý  řádek

↻↻↻  ,
	10n
	Předpona
	Značka
	Násobek
	
↓ · 1 000

každý  řádek

, ↺↺↺

	
	109
	giga
	G
	1 000 000 000
	

	
	106
	mega
	M
	1 000 000
	

	
	103
	kilo
	k
	1 000
	

	
	100
	---
	---
	1
	

	
	10−3
	mili
	m
	0,001
	

	
	10−6
	mikro
	µ
	0,000 001
	

	
	10−9
	nano
	n
	0,000 000 001
	




 
	1 m
	10 dm
	100 cm
	1 000 mm

	1 m2
	102 dm2
	1002 cm2
	1 0002 mm2

	
	100 dm2
	10 000 cm2
	1 000 000 mm2

	1 m3
	103 dm3
	1003 cm3
	1 0003 mm3

	
	1 000 dm3
	1 000 000 cm3
	1 000 000 000 mm3







1 l = 10 dl = 100 cl = 1 000 ml
1 l = 1 dm³ = 1000 cm³ = 1 000 ml
1 m³ = 1 000 dm³ = 1 000 l
1 cm³ = 1 ml



1 h = 60 min = 3 600 s
0,1 h = 6 min = 360 s
0, 01 h = 36 s




 =  = 1 · 3,6 = 3,6  






A

5 min = 			s0
6 cm = 			mm
5 t = 				kg
2 m2 = 			cm2
70 kg = 			g
300 dm3 =			m3 
3,2 kPa = 			Pa
5,2 mA =			μA 
7 mF = 			μF
8,5 kV = 			V
0,5 MW =			W 
21 l = 			dm30
9,5 km2 = 			m20
4,2 μJ = 			mJ 
3,4 g = 			mg0 
0,01 kN = 			N 
3 cm = 			m 
48,2 ml = 			cm3
13,6 g.cm-3 = 		kg.dm-3 
144 000 J = 		MJ
120 m.s-1 = 		km.hod-10
6 hod = 			min
300 s =			ms 
330 ml = 			l
2,5 kWh = 			Ws0
B

5 min =			hod 00
6 cm = 			m0
5 t = 				g 
2 m2 =			dm2  
70 kg = 			t0
300 dm3 = 			l 0 
3,2 kPa =			MPa00
5,2 mA =			A 
7 pF = 			nF
8,5 kV = 			mV
0,5 MW =			kW
21 l = 			m30 0
9,5 m2 = 			km2
4,2 μJ = 			nJ
3,4 mg = 			g
0,01 kN = 			mN
3 cm =			μm
48,2 ml =			mm30 0
13,6 g. cm-3  = 		kg. m-3
144 000 J = 		GJ
120 m.s-1 = 		km.min-1
6 hod =			dne
300 s = 			min
330 ml = 			m30
2,5 Wh =			kWs
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C

3 cm = 			m 
48,2 ml = 			cm3
13,6 g.cm-3 = 		kg.dm-3 
144 000 J = 		MJ
120 m.s-1 = 		km.hod-10
6 hod = 			min
300 s =			ms 
330 ml = 			l
2,5 kWh = 			Ws
5 min = 			s0
6 cm = 			mm
5 t = 				kg
2 m2 = 			cm2
70 kg = 			g
300 dm3 =			m3 
3,2 kPa = 			Pa
5,2 mA =			μA 
7 mF = 			μF
8,5 kV = 			V
0,5 MW =			W 
21 l = 			dm30
9,5 km2 = 			m20
4,2 μJ = 			mJ 
3,4 g = 			mg0 
0,01 kN = 			N 
D


3 cm =			μm
48,2 ml =			mm30 0
13,6 g. cm-3  = 		kg. m-3
144 000 J = 		GJ
120 m.s-1 = 		km.min-1
6 hod =			dne
300 s = 			min
330 ml = 			m30
2,5 Wh =			kWs
5 min =			hod 00
6 cm = 			m0
5 t = 				g 
2 m2 =			dm2  
70 kg = 			t0
300 dm3 = 			l 0 
3,2 kPa =			MPa00
5,2 mA =			A 
7 pF = 			nF
8,5 kV = 			mV
0,5 MW =			kW
21 l = 			m30 0
9,5 m2 = 			km2
4,2 μJ = 			nJ
3,4 mg = 			g
0,01 kN = 			mN
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